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R(6th Sm.)-Tax Procedure &
Planning-G-(DSE6.2T)CBCS

2021

TAX PROCEDURESAND PLANNING — GENERAL
Paper : DSE 6.2T

Full Marks: 80

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]

The figures in the margin indicate full marks.

Group-A
Answer any four questions:
1. (8 ‘Tax planning is nothing but tax avoidance’ — Discuss.
(b) From the tax planning point of view which one is beneficial in case of a salaried person:
(i) Investment in N.S.C. or investment in fixed deposit account of Axis Bank.
(if) Contribution to unrecognised provident fund or contribution to public provident fund.
6+2+2
2. Amit furnished the following information in relation to research expenditure for the P.Y. 2019-20:
(a) Purchase of land for in house scientific research.
(b) Purchase of Machinery for in house scientific research.
(c) Payment to IIT, Delhi for approved scientific research.
(d) Payment to University of Calcutta for social research.

State the tax implication of each expenditure and which one Amit should accept from tax planning point
of view? 8+2

3. (a) Asit made a long term capital gain of ¥ 30,00,000 on sale of his house. He has two options—
(i) To purchase a house for ¥ 30,00,000.

(if) To purchase shares of ITC Ltd. for I 20,00,000 and to invest ¥ 10,00,000 in different mutual
funds.

Advise Asit from tax planning point of view.

(b) Arun wishes to take alife insurance policy either on the life of his mother or on the life of his wife?
Which one is beneficial from tax planning point of view? 7+3

4. (@ Ana wishes to join a Company. He has been given two options:
(i) Basic salary ¥ 40,000 p.m.
(if) Basic salary ¥ 35,000 p.m. Conveyence allowance only for officia work ¥ 4,000 p.m. and
children Education allowance ¥ 1,000 p.m. He has one child.
Which one Anal will accept?
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(b) Alok has two options in respect of loan:

(@

(b)

(@
(b)

(@

(b)

(@
(b)

(@

To obtain interest free loan of ¥ 1,00,000 from employer (SBI charged interest @ 11.5% p.a. on similar
loan) or to obtain loan of ¥ 1,00,000 from Bank of Baroda at an interest of 10% p.a

Advise Alok. 7+3

From the following information compute relief under Income Tax Act and tax payable by Asoka (age
55 years):

4
Income from business in India 7,00,000
Income from business in Zambia 2,00,000
Deduction u/s 80C in India 50,000
Tax paid in Zambia 60,000

There is no double taxation avoidance agreement between India and Zambia.

Which oneis better from tax planning point of view? Medical alowance or reimbursement of medical
expenses. (5+1)+4

How an assessee will compute self assessment tax?

On 12.01.21 taxable income of Anushka (age 38 years) for the assessment year 2020-21 has computed
at ¥ 9,75,000 by an A.O. Tax deducted at source X 3,800. She paid advance tax of ¥ 89,500.

Compute interest payable u/s 234B. 5+5

From the following information, compute advance tax payable by Apala (age 43 years) along with
due date of payment:

Gross total income % 7,50,000; Deduction u/s 80D ¥ 20,000; Deduction u/s 80G ¥ 30,000; Tax
deducted at source % 14,600.

Anup filed his tax return after the specified time. Is the liable to pay any interest and fees for delay

in submission? 7+(2+1)
State the forms through which an individual can submit income tax return.
Write a short note on scrutiny assessment u/s 143(3). 4+6

Group-B
Answer any two questions:

A business entity needs ¥ 30,00,000 for expansion. The entity has the following alternatives:

A A, A
Equity shares ¥ 10 each 30,00,000 20,00,000 10,00,000
8% Preference shares of ¥ 100 each — 10,00,000 —
12%Debentures of ¥ 100 each — — 20,00,000

Expected rate of return-13% (before tax); rate of tax 31.2% (including cess) and rate of
DDT-20.55529%

Advise the business entity about the best alternative.
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(b) Which one is better from tax planning point of view?
(i) Payment of dividend to equity shareholders.
(ii) Issue of bonus shares to equity shareholders. 15+5

10. (&) State in brief, the tax benefits in respect of location of a business.
(b) Mention any five tax benefits that can be enjoyed by a resulting company in case of demerger.
(c) Anita supplied the following information for the P.Y. 2019-20:

4
Gross total income 7,50,00
Deduction u/s 80D 20,000
Donation to National defence Fund 15,000
Donation to J.L. Nehru Memoria Fund 10,000
Donation to Ramkrishna Mission 40,000
Donation to a notified temple 35,000
Compute deduction u/s 80G from tax planning point of view. 4+10+6

11. On 01.07.2019 a business entity wishes to purchase a machine costing ¥ 6,00,000 having 5 years of life.
The entity has two options:

(&) Pay the cost of machine in 2 equal annual installment starting from 01.07.2019.

(b) Pay immediately I 3,00,000 and balance can be takes as loan from Canara Bank at a simple interest
of 12% p.a. The loan has to be repaid at the end of 5th year.

Rate of depreciation-15%, rate of additional depreciation-20%; rate of tax 31.2% (including cess)
and rate of discount-10%.

[Present value of Re. 1 at 10%; y, : .909; y, : .826; y3 : .751; y, : .683; y5 : .621] 20

12. (&) Mention any four Income Tax Authorities.
(b) Mention any two judicial power of commissioner (appeal).
(c) Who can claim refund?
(d) Write a short note on tax deducted at source from lottery income.

(e) What is the amount of penalty in case of failure to get the accounts audited u/s 44AB?
6+3+3+6+2



